=~ 0.2 ~ 0.2
E ~F
= (<=3 o
A 0.15 60.15_— ------------------
S o o
Io F et
"\? 0.1 v 0.1:— """""
0.05 0.05fF----------i-m-ene
0 O -----rermvieneens
-0.05 —0.05f----rererteeens
-0.1 =04t
-0.15 —0.15F - et
9_-0\»’2 9_-0\»’2: Lol 1 |||“|| b 1 IERETT
I I E 4
o 04 I=------ e f- - - B
1] E f T f f
005 tHFt A -H -~ ot dbHAHE -4
0.95— : : :2 . 03:71 2 3
10 1 TPlpg)T (PCA t%obeamlinélf) 10 1 TPlpoT (PCA t%obeamlinélf)
—=— DQM_TT__Original_lowpt
—— DQM_TT__Original-pLess_lowpt
g 100:
................................................. = 80
A -
................................................ 2 60
o
------------------------------------ v 40F
"""""""""""""""""""" 20F
+ ﬁ+ﬁﬁ”w ------ 0
---------------------------------------------- -20
----------------------------------------------- -40
. . . -60
"""""""""""""""""""""""""""" -80F
1 'RETT| R 9_1@05 EEERETT| 1 IRET| 1 'RETT| 1 IRETT
g
o [
L | 1 S 1_— ----- 4+ 44 <4 [ Y
: ALE : 0.95L T
10t 1 107 1

2 3
TPl[g)T (PCA f%)obeamlinép

<op/p. > (%)

10 1

I : 2 3
TPl[:g)T (PCA t%)obeamlin%)o



	Contents
	Page 1


